o
[N

<0 @> (rad)
o
o [
[ [¢)]

.......................

.......................

......

................

................

TP n (PCA to beamline)

< o cot(y) >

e
[
l

o
[N

o
i

......................

......................

................

................

TP n (PCA to beamline)

—=— DQM_mKkFit_TToriginal
—e— DQM_mkFit_TTNEWHS_ALLITERS
—— DQM_mkFit_ TTNEWHSMS_ALLITERS

< 00, > (M)
o 5
o o

D
o

N
o

Ratio

<opyp, > ()

Ratio

-1 0

1 2 3

TP n (PCA to beamline)

....................

................

0

T2 3

TP n (PCA to beamline)

<od,> (um)

Ratio

..............

................

iy

0.95

1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


